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QUESTION 1

A vSphere administrator sees the alarm: vSphere HA virtual machine failed to failover This occurred for virtual machines
(VMs) in a cluster with vSphere High Availability (HA) enabled. The 

guest operating system on the VMs did not report a power failure. What is a possible cause of this event? 

A. The host is still running but has disconnected from the network. 

B. The VMs cloning operations did not complete. 

C. A reboot of vCenter Server impacted vSphere HA. 

D. The VMs encountered an error during migration using vSphere vMotion. 

Correct Answer: A 

 

QUESTION 2

A vSphere administrator has migrated a virtual machine between two ESXi hosts using vSphere vMotion and notices
that the VM can no longer be pinged. 

What caused this situation? 

A. The virtual machine has RDMs attached. 

B. A different datastore is being used after the migration. 

C. There is an MTU mismatch. 

D. The destination portgroup has an incorrect VLAN tag. 

Correct Answer: D 

 

QUESTION 3

Which feature mist an administrator use to revert back to the previous of a VM template? 

A. VM Snapshots 

B. Content Library 

C. VMware Tools 

D. Storage vMotion 

Correct Answer: B 

 

QUESTION 4
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An administrator would like to enable a switch setting to restrict the network bandwidth that is available to ports, but the
solution must also allow bursts of traffic to flow through at higher spends. 

Which vSphere Distributed Switch setting accomplishes this goal? 

A. Monitoring 

B. teaming and failover 

C. Traffic shaping 

D. Security 

Correct Answer: C 

 

QUESTION 5

An administrator needs to upgrade the guest operating system installed in a virtual machine. The administrator wants to
safely ensure that the selected operating system is supported by ESXi. Which action should the administrator take to
meet this goal? 

A. Perform a guest OS and product search In the VMware Compatibility Guide. 

B. Look in the guest OS version drop-down menu of the VM. 

C. Snapshot the VM before performing the operating system upgrade. 

D. Check the web page of the guest operating system vendor. 

Correct Answer: A 
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